


-CaMm Bonpoc:

3BYYUT cneayowmm obpasom:




CnoBo «Y4yacbIi» U «4ac» UMEIOT HECKOJbKO 3Ha4YeHUWN B PYCCKOM
f3blKe, U MO3TOMY NepeBoaAATCA No-pasHOMY, B 3aBUCUMOCTHU OT

TOro, YTo nNogpasymeBaeTCA:

Yyacbl

(kak NpmMbop, NOKasblBaOLWNIMA BPEMS, UMEIOLLINIA
CTpenku nnu Tabno, He npegHas3Ha4YeHHbIN Ons
HOLLEHWS, CTOSALLMIA NN BUCALLNK B MOMELLIEHNN)

Yyachbl

(kak NpMbop, NOKa3blBaOLWNIMA BPEMS, UMEIOLLINI
CTpenkn unm tabno, npegHasHa4YeHHbIN Ans
HOLLEHWNSI Ha 3anNsACTbE UIMN B KApMaHe)

yac
(B 3Ha4eHUN BPEMEHHOIO NpoMeXyTKa, paBHoro 60
MWHYTaMm)

yac

(Mnn «4acoBy, «4acay npu ykasaHum BPEMEHHU, C
YUCNNTENBbHbLIM, COOTBETCTBYOLMM TOMN UM NHOW
undpe Ha umdpepbnaTe (M akpaHe) Yacos)

clock
(MHOXecTBeHHOoe 4uncno — clocks)

watch
(MHOXecTBeHHOEe 4uncrno - watches)
(Hapy4Hble yacbl — wristwatch)

hour
(MHOXecTBeHHOe 4uncro — hours)

o’clock
(dpopma oamnHakoBa Ans BCcex yncen)



It's ...
It's 510 ...

Its 10 {0 ...

It's a quarter to ...

It's 20 to ...

Its 25 to.....: s 25 past ...
It's half past ...




OcHOBHbIe npeanoru, Cnosfib3yemblie co
cnosamu “o’clock” mn “hour’:

at

by
for

since

till
in
from ... to

B
K, OO0
B TeyeHue, 3a

C

0o
yepes
C...Ao0

at 3 o'clock
by 3 o'clock
for 3 hours

since 3 o'clock

till 3 o'clock
In 3 hours
from 3to 4

B 3 yaca
K 3 yacam

B TeYyeHue 3-x
4yacoB

¢ 3 YyacoB

no 3 Yyacos
yepe3 3 4yaca
¢ 3 go 4 yacoB )



=1. HannwvnTte ykazaHHoe Bpems uudpamm.
H-p: It’s twenty past five. - 5:20

1.1t’s half past three.

o.It’s ten to six.

3.1t’s a quarter past two.
4.1t’s a quarter to twelve.
5.1t's twenty to one.
6.1t’s half past eight.
7.1t’s five past eleven.
3.1t’s twenty-five to four.
0.It’s nine o’clock.

0.It’s ten past ten.

®



2. HanuwuTe ykasaHHOe BPeMS CnoBaMM.
4:45
12:40
6:30
3:00
5:10
2:35
9:55
12:05
8:25
7:15




3. BbibepuTe B cCKOBKax npaBunibHOE BPEMS.
.It’s twenty past eight. (7:40 — 8:20 — 8:40)
.It’s half past seven. (6:30 - 7:30 — 8:30)
.It's a quarter past five. (4:45 - 5:15 - 6:15)
.It’'s a quarter to ten. (10:15 - 10:45 - 9:45)
.It’s ten to twelve. (12:10 - 12:50 — 11:50)




